INSTRUKCIA MONTAZU MK DP 881 WS

- akcesoria:
s @ STUBY diugie M5 @ nakretki M6 B
© katowniki b= © Sruby diugie M6

P 5 §ruby krotkie M6 E=="© §ruby M5z pokretiem

| ]
@ C1e$¢A

Cze$¢B © 01eSc C CzescD

Dokona¢ montaiu zgodnie z poniisza instrukcja. 2. Zainstalowac katowniki (2): przyleiyé
Potrzehne narzedzia (brak w zestawie): Srubokret  katkowniki do czeSci C 1 D (9 i 10

krzyiakowy, Srubokret plaski. zgodnie z ponizszym rysunkiem 1 przy-
. . L . Kkrecic za pomoca 4 Srub kratkich M6 (3).

1. Zainstalowac czesc A (7): przytoiyé do dotu pia-
ninai przykrecic za pomoca 2 Srub diugich M5 (1). e /®\

E- ﬁ. -

: Ta strona do czesci ' \ /

EI}IIl ®

Ta strona od czesci

71—

®

3. Zainstalowac czes$¢ B (8): umiescic czeS¢ Bmie- 4. Zaintastalowaé pianino: umiescic pia-
dzy czesciami CiD (9i10), przylozy¢ 4 nakretkiM6  nino na katownikach (2) i przykrecié za
(4) jak na rysunku, uzy¢ plaskiego Srubokreta do  pomoca 4 Srub M5 z pokretiami (6).
dopasowania nakretek do otworéw, przykrecic
cze$¢é B (8] za pomoca 4 Srub diugich M6 (5).

® ® A A
‘N R
aalfer - |




Attention:PLEASE ASSEMBLE BY ADULT

e accessories:

D M5 screw @ M6 Hammer head nut o A N 3
® angle iron bracket P 6 M long screw
o ® M6 short screw ® M5 Plastic head screw ¢ °

@ Box section

Rung

Please Install the wooden frames according to
the diagram below (please prepare installation
tools: large size phillips screwdriver and slot
type screwdriver).

1. Install box section : Place the box section®
into the groove on the bottom of the piano and
tighten it with M5 screws® .

3. Install the Rung®: mack the perforated side of the
Rung facing backwards, and insert the M6 hammer
nut® as shown in the diagram. Use a slot type
screwdriver to adjust the hammer head nut to the
holes on both baseboard. Then lock the rung® with
M6 long screw® from behind of baseboard.

(i

.\@
|

® Left Right
Baseboard Baseboard

2. Installation of angle iron bracket® :
Install the iron brackets separately on the
left and right baseboard(@&®) (please
notice that the angle iron bracket’s
direction), and then tighten them with the
M6 short screws® .

S @)
EE 2D
= - -

N v\
This side faces to \ /
the baseboard

(©)]

This side faces
upward

""""""""" ®

4. Piano instillation : place the piano on the
top of the wooden frame and lock the piano

with M5 plastic head screws®.

2
2

—~ 2




